@ @ o é % Multiplique decimais por poténcias negativas de dez

Nome: Encontro: Data: Pontuagdo:
6280, 1 x 0.001 = 3080,4 x 0.001 =
5722,3 x0.001 = 9884,9 x 0.1 =
6943,7 x 0.001 = 5901,8 x 0.1 =
2166 x 0.01 = 3753, 1 x0.0001 =
8033,9 x 0.01 = 5184,4 x 0.001 =
8759,5x0.001 = 5508, 3 x 0.0001 =
3983,6 % 0.001 = 4053, 8 x 0.0001 =
6104, 1 x 0.01 = 3200,4 x 0.1 =
6265,6 x 0.1 = 5441,9 x 0.0001 =
8080, 8 x 0.001 = 7649, 9 x 0.0001 =
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@ @ o é % Multiplique decimais por poténcias negativas de dez

Nome: Encontro: Data: Pontuagio:
6280, 1 x 0.001 = 6.2801 3080, 4 x 0.001 = 3.0804
5722,3 x 0.001 = 5.7223 9884,9 x 0.1 = 988.49
6943,7 x 0.001 = 6.9437 5901, 8 x 0.1 = 590.18
2166 < 0.01 = 21.66 3753,1x0.0001 = 0.37531
8033,9 % 0.01 = 80.339 5184,4 % 0.001 =5.1844
8759,5 % 0.001 = 8.7595 5508, 3 x 0.0001 = 0.55083
3983,6 x 0.001 = 3.9836 4053, 8 x 0.0001 = 0.40538
6104, 1 x 0.01 =61.041 3200,4 x 0.1 = 320.04
6265,6 x 0.1 = 626.56 5441,9 x 0.0001 = 0.54419
8080, 8 x 0.001 = 8.0808 7649, 9 x 0.0001 = 0.76499
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